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A A E R E 30emAT ;
BIAREAE 10 A
A A EE I #)E 30emPL E60cmAT
BIAREAE 12 A
EAR A EEMEE60cmE, F90cmATE ;
BIAREAE 12 A
EA A EEWEEI0emL F120emAT ;
AT AE 9 %N
A A EA IR E 30emA ;
BIARE A E 10 A
A A ELEE30emEL E60emAT |
BIARE A E 12 A

AR A A HER)E 60cmPL_E90emA




il
W
St
%
I

TH4 | A6 ERE  JUENE B T3
TEHEX Sy - THE - R B {7 % & A bl A iR
BIAREAE 12 N
EAR A ELAHAERE0emLL_E120emATH ;
IR EAEEHET = 459,260 |BIATAE 7 N
A A E R 30emAT ;
AT AE 7 %N
A A EEHERE30emEL E60cmATH ;
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A A EA IR E 30emAT ;
AT AE 7 %N
EA B A ELHAEE30emll_E60cmATH ;
AT AE 9 %N
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RO REERMIEA SR X Y
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T - 2 FRHHAT 100 m2
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Y RE R OGEE) ;

T - 2 FRAHAT 100 m2
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IR ZAEEET 2 1 13,802 | KAt AR 10 N
PR HE 200emPl_E300emATH ;
FIARHEAE 10 N
mA )& 60cmll_E120emATw ;
T - 2 H A 100 m2
FE AR AR 100m2LL_E1000m2A A X
MR CRE R OHEE) |
IR EAEFHT X 1 7,238 | AAE - ZEAE 100 m2
FE AR AR 100m2LL_E1000m2A A X
il B
IR EAEFHT X 1 5,035 | AHAE -2 EAE 100 m2
FE AR AR 100m2LL_E1000m2A A X
il BREEARHIAS |
ek s =X 1 38,200 |[EAEEL 100 kg
Ty b =245
IR AEEHET = 1 7,072 |#HE 10 N
(B —HNE)
IEAR B 60emAT HEARLOARLL | (KA =60
emATH 1004 AT ;
MR- EAEET = 1 8,488 | K 100 m2
MR- EAEET = 1 9,762 |HEK 100 m2
MR- EAEET = 1 7,215 | HEK 100 m2
IR EAEFHT X 1 38,120 |HURIREL 200 m2

FEIA M 100m2LL - 1000m2AT £k FH X FE e
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FEIA 22 H1 100m2Lh_F1000m2ATH A X BREE
RS
MRE T = 2,419, 760
JERE PR T = 1,820,000 |FREL 4, 000 m2
JERERE (A 4,000 m2
B RAPHEREL ;
JERERE (A 4,000 m2
B RAFHERY
R R T = 135,400 | 3RAIFRE 200 m2
AR
AR 200 m2
B
FEESSRAMBERR L 2 464,360 |95 E 1 =X
% 1 X
BhHE T = 540, 372
FhE T = 540, 372 | $EHI 20 m3
THp EFELASR OB /INBUSE (I HE)
b E 1 X
+wp CEHR - ERIRY LET) ;
e 1 =
HBtHZ A couE
CEUEVZAR 150 m2
(t=5cm)
18-8-25 (20) (®JF) av))-MEEEHE
B Ey—h 100 m2
AT Bl R JR0. 4nmfRJE
s ALER T = 1,071, 200




;
T
iy
=
I

TH4 | BF6EE R NE AR MR T

TEHX4y « Tfd - FER B Az £ & #A i il R
S AL T X 1,071,200 | J5H5te ! A
HE e 1 F2V
BEFEM AL = 868, 400
BEZE) LR T = 868, 400 | A4y 50 t
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A Y 1, 614, 550
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e L =Y 1,684, 700 | EATkE: 10 PN
WRAREE L #)E60cmPL F90emATH ;
FRIARER 10 N
PRI L #2J890emll_F120emAT ;
BIAR R T Y 827, 420
EAREMRT Y 827,420 | HAR SR 50 N
e ;
IR RAR 2 N
PR IR AE L)
SN AL T =Y 1,071, 200
S AR T X 1,071,200 | J5H5He ! A
A 1 F2V
BEFEM AL = 256, 800
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A ERE E T = 1,174,200 | ACiEH5E 205 5 1 =
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HiE 2 = 3,210, 120
BISTIGE: = 91, 120

Hefif & = 32,320 |FRAIEFAAE 1 F2V

IR s IR 1 F2

HeffrE sy = 58, 800 | 18 & fiti i FeANT —HERKEY 1 F2V
B (FEHL) = 3, 119, 000
T = 21, 386, 406
Bl gy = 11, 949, 000
T =5l = 33, 335, 406
— R A = 6, 394, 594
T =AM = 39, 730, 000




